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Nombre: Fecha: Puntuacion:
5,786 x 1000 = 3,22 x 100 =
9,233 x 100 = 7,204 x 100 =
3,575 x 1000 = 5,392 x 10 =
5,3 %1000 = 7,241 x 100 =
7,909 x 100 = 2,968 x 100 =
8,414 x 100 = 1,692 x 1000 =
6,79 x 100 = 9,86 x 100 =
6,783 x 100 = 8,889 x 10 =
5,205 x 100 = 10, 665 x 1000 =
9,46 x 1000 = 10, 149 x 100 =
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5=c ‘ o ’ |w-~~“8 % A Multiplica decimales por 10,100,1000

———

Nombre: Fecha: Puntuacion:
5,786 x 1000 = 5786 3,22 x 100 =322
9,233 x 100 =923.3 7,204 x 100 = 720.4
3,575 x 1000 = 3575 5,392 x 10 =53.92
5,3 x 1000 = 5300 7,241 x 100 = 724.1
7,909 x 100 = 790.9 2,968 x 100 = 296.8
8,414 x 100 = 841.4 1,692 x 1000 = 1692
6,79 x 100 = 679 9,86 x 100 = 986
6,783 x 100 = 678.3 8, 889 x 10 = 88.89
5,205 x 100 = 520.5 10, 665 x 1000 = 10665
9,46 x 1000 = 9460 10, 149 x 100 = 1014.9
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